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30

> CES (Current Employment
Statistics )

» CES

VY VY
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(Wedge back)
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> WDLT(Weighted Difference-
Link and Taper)

> Link-relative
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2011 BLS
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CES(Current Employment Statistics)

>
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pw

wh

Matched Sample

matched sample
matched sample

pw

wh
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Welighted Difference Link and Tapers Formula

» Weighted Different Link and Tapers
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» WDLT
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The WDLT formula

AHE, = tapers + difference link

/NN

AHE, = (ax AHE,) + (B % ahe,) + (ahe. — ahe,)

| |

a=0.9 B=1—-a=01

AHE
ahe
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“Difference Link”  “Tapers”

» Difference Link

> Tapers Tapers
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Step 1
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Example: Sample Totals

1001 5 10 4000 400 1001 50 20000 2000
1002 1 120 37800 4200 1002 120 37800 4200
1003 25 2 1800 90 1003 50 45000 2250

Total 220 102800 8450
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Step 2.

awh ahe

awh = wh/pw

ahe = pr/wh
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awh. = wh / pw
=8450/ 220
= 38.4 hours

ahe. = pr / wh
=$102,800 / 8450
=$12.17
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Step 3:

AHE,. = tapers + difference link

AHE, = (ax AHE,) + (B % ahe,) + (ahe. — ahe,)
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AHE 12.50
ahe 13.00

AHE, = (ax AHE,) + (B % ahe,) + (ahe. — ahe,)
=0.9x $12.50+0.1x $13.00 + ($12.17 - $13.00)
=$11.25 +$1.30 + (- $0.83)
= $11.72
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Step 4: Aggregate Up
» CES
AHE

AWH

» AHE AWH
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Step 4: Aggregate Up

WH aggregate = PW x AWH
PR aggregate = WH aggregate X AHE

AWH = WH aggregate / PW aggregate
AHE = PR aggregate / WH aggregate
AWE = AWH x AHE
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Example: Aggregate Up
I IV O Y
A 200 20 $30

B 1000 50 $10

Cell A (200 x 20) = 4000 (4000 = 30) = 120000
Cell B (1000 x 50) = 50000 (50000 = 10) = 500000

Cell "X"

54000 620000

Cell “X”

Cell “X” PW, = 1200

Cell “X” AWH, = 54000/1200 =45 hours

Cell “X” AEH, = 620000 / 54000 = $11.48
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